RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(ENROLLMENT - MAY)

RES. NO. 260-86

1357-SX-85 MAMAKE, Valgene B.

WHEREAS, The Tohono O'odham Council has reviewed the recommendations of the 2 Enrollment Committee in accordance with Section 1 of Article VIII of 3 the Enrollment Ordinance, Ordinance No. 05-81, and has made a final 4 determination that the applications of the following applicants for 5 membership in the Tohono O'odham Nation be approved: 6 7 ARTICLE II - MEMBERSHIP 1728-GA-86 *LOPEZ, Joseph R. SECTION (1b) ALL CHILDREN 1729-GA-86 *LOPEZ, Jessica M. 8 BORN TO RESIDENT MEMBERS 1730-GA-86 *SEGUNDO, Loretta L. 9 *LABORIN, Maria J.
*LABORIN, Monica J. 2358-B-85 ARTICLE II - MEMBERSHIP SECTION (1B) ALL CHILDREN 2359-B-85 10 2429-B-85 *VALISTO, Zena M. BORN TO RESIDENT MEMBERS 2450-B-85 *NUNEZ, Arturo 11 2451-B-85 *NUNEZ, Bernadino 1275-GV-86 *ANTONE, Janelle T. *PARLEY, Gwendolyn Anne 12 2461-B-86 1277-GV-86 *NARCHO, Sonny M. 2467-B-86 *FELIX, Novan J. 13 *JOSE, Gerard A. 2468-B-86 ARTICLE II - MEMBERSHIP 2469-B-86 *JOSE, Owen A. SECTION (1B) ALL CHILDREN 14 2470-B-86 *MANUEL, Christopher M. BORN TO RESIDENT MEMBERS 2471-B-86 *GARCIA, Vincent J. 15 2472-B-86 *PALMA, Athanasias X. 804-H-85 *GARCIA, Fernassa B. 16 2476-B-86 *SIQUIEROS, Derick ARTICLE II - MEMBERSHIP 17 ARTICLE II - MEMBERSHIP SECTION (1B) ALL CHILDREN SECTION (1A) ALL INDIANS BORN TO RESIDENT MEMBERS 18 WHOSE NAMES APPEAR ON THE OFFICIAL CENSUS ROLLS 1273-P-85 ANTONE, Carlos D. 19 20 2435-B-83 *ANTONE, Juana (ANHILL) ARTICLE II - MEMBERSHIP 2457-B-86 CHAVEZ, Rita Catherine SECTION (1B) ALL CHIDLREN 21 BORN TO RESIDENT MEMBERS ARTICLE II - MEMBERSHIP 22 SECTION (1B) ALL CHILDREN 1002-GB-86 *VALDEZ, Brandon C. J. BORN TO RESIDENT MEMBERS 1003-GB-86 *ORTEGA, Maria E. **2**3 1006-GB-86 *BALTAZAR, Hilario L. 24 1775-CK-85 *QUIROGA, Angela B. 1008-GB-86 *ORTEGA, Jamie A. 1789-CK-85 *WRIGHT, Robert Paul 1009-GB-86 *ORTEGA, Gwendolyn 25 1791-CK-85 *AGAPINAN, Angel M. 1010-GB-86 *PATE, Kyle L. 1792-CK-85 *AGAPINAN, Theresa E. 1024-GB-86 *ORTIZ, Sheldon S. 26 *ANTONE, Clayton 1793-CK-85 885-GB-85 *MAGGINI, Nancy I. 1796-CK-85 *MORALES, Jimmy (WHITMORE) 27 1797-CK-85 *SANCHEZ, Johnny Steve 1802-CK-86 *PAREDES, Vincent M. ARTICLE II - MEMBERSHIP 28 SECTION (1B) ALL CHILDREN 29 ARTICLE II - MEMBERSHIP BORN TO RESIDENT MEMBERS

.

*(MEMBERSHIP ONLY)

1714-GA-85

1725-GA-86

30

31

32

SECTION (1b) ALL CHILDREN

1689-GA-85 *JOAQUIN, Denise M.

1727-GA-86 *BEGAY, Jessica J.

*BUTLER, James W.

*ORTEGA, Apollo Keith

BORN TO RESIDENT MEMBERS

RES. NO. 260-86 (ENROLLMENT - MAY) Page Two (2)

ARTICLE II - MEMBERSHIP SECTION (1B) ALL CHILDREN 2 BORN TO RESIDENT MEMBERS 1166-ST-85 *MARTINEZ, Sheldon Dion 11.68-ST-86 *LOPEZ, Dixon P. 1169-ST-86 *RIOS, Florine W. 1171-ST-86 *RIOS, Phillip J. 1172-ST-86 *RIOS, Eugene B. ARTICLE II - MEMBERSHIP SECTION (1B) ALL CHILDREN 8 BORN TO RESIDENT MEMBERS 2678-S-85 *MORALES, Susan (ESPINOZA) 2814-S-86 *DELORES, Amanda R. 2822-5-86 *ACKERMAN, Arnold J. Jr. 2824-S-86 *JOHNSON, Rachel E. D. 2825-S-86 *JUAN, Benjamin R. 2826-S-86 *LEWIS, Romo C. Jr. 2827-S-86 *LISTON, Jason R. 2828-S-86 *MIGUEL, Carlena J. 2829-S-86 *MIGUEL, Julian M. 2830-S-86 *MIGUEL, June F. 2831-S-86 *MIGUEL, Marcellino

2834-S-86 *SALAZAR, Nikki L. 2835-\$-86 *SALCIDO, Sheena M. 2836-S-86 *URIBE, Yuri 2837-S-86 *FLORES, Cassey L. 2838-S-86 *FLORES, Steven C. 2650-S-84 *MARENTES, Rebecca 2651-S-84 *MARENTES, Richard Jr.

ARTICLE II - MEMBERSHIP SECTION (1B) ALL CHILDREN BORN TO RESIDENT MEMBERS

825-S0-83 *HOMEWYTEWA, Julie A. 1515-SO-86 *LEWIS, MARGENE M.

ARTICLE II - MEMBERSHIP SECTION (1A) ALL INDIANS WHOSE NAMES APPEAR ON THE OFFICAL CENSUS ROLLS

1476-S0-75 *MIGUEL, Augustine 1468-S0-83 *ENOS, Johnny

NOW, THEREFORE, BE IT RESOLVED that it is hereby determined that the above named applicants are eligible for enrollment as members of the Tohono O'odham Nation under Section 1 (a) or (b) of Article II of the Constitution of the Tohono O'odham Nation, and that their applications are approved, as herein above indicated.

BE IT FURTHER RESOLVED that the Chairman and other appropriate officers of the Tohono O'odham Nation reduce this final determination in writing regarding each of the foregoing applications for enrollment in accordance with Section 3 (c) of Article III of the Enrollment Ordinance; give notice of this Council's determination in accordance with Section 4 of Article III of the Enrollment Ordinance; and place the names of each applicant upon the membership roll of the Tohono O'odham Nation in accordance with Aritcle V of the Enrollment Ordinance.

The foregoing resolution was passed by the Tohono O'odham Council on the 8th day of May, 1986, at a meeting at which a quorum was present with a vote of $\underline{1514.0}$ for; $\underline{-0}$ against; $\underline{126.0}$ not voting; and $\underline{02}$ absent, pursuant to the powers vested in the Council by Section 1 of Article II and of Section 1 (h) * (MEMBERSHIP ONLY)

1

3

4

5

6

7

9

10

11

12

13

14

15 16

17 18

19

20

21 22

23

24

25 26

27

28

2930

31

32

RES. NO. 260-86 (ENROLLMENT-MAY) Page Three (3) of Article VI of the Constitution of the Tohono O'odham Nation, adopted by the 1 Tohono O'odham Nation on January 18, 1986, and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to 2 Section 16 of the Act of June 18, 1934 (48 Stat. 984). 3 TOHONO O'ODHAM LEGISLATIVE COUNCIL 4 5 6 // day of June, 1986. 7 8 ATTEST: 9 10 Ophelia F. Campillo, Legislative 11 12 15th day of Truce, 19 96. 13 14 Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the 20 day of $\overline{\text{June}}$, 1986, at 1:13 o'clock, \underline{P} .M., pursuant to the provisions of Section 5 of Article VII of the 15 Constitution and will become effective upon his approval or upon his failure to 16 either approve or disapprove it within 48 hours of submittal. 17 TOHONO O'ODHAM LEGISLATIVE COUNCIL 18 19 20 21 on the 24 day of June, 1984, at 22 **APPROVED** 23 Ziz/ o'clock, P.M. DISAPPROVED 24 25 JOSIAH MOORE, Chairman 26 TOHONO O'ODHAM NATION 27 Returned to Legislative Secretary on the ______ day of ______ 28 19 \mathcal{G}_{6} , at $\mathcal{S}'/\mathcal{J}_{3}$ o'clock, \mathcal{A} .M. 29 30 Ophelia F. Campillo, Legislative 31 32

MOVED: ROSEMARY LOPEZ SUBJECT: APPROVING ENROLLMENT SECTIONS

SECOND: JULIA CARRILLO 1A & 1B

DATE: MAY O	8, 1986		RESOL	UTION OR	ORDINANCE	£ # 260-8
DISTRICTS .	REPRESENTATIVES	# .	- .	•	NOT	
		OF VOTES	FOR	AGAINST	VOTING	ABSEN
SIF OIDAK	<pre>1. Elliott Lewis (Eugene F. Jose)</pre>	69.0	. х			·
138	2. Nicklos Jose (Letitia Garcia)	69.0	Х			·
SELLS	1. Andrew M. Patricio	128.5	Х			
257	(Nora Alvarez) 2. Fred Stevens (Dennis E. Jose)	128.5	х			
SCHUK TOAK	1. Joseph Juan	52.5	х	_		-
105	2. Julie Carrillo (Jo Ann Francisco)	52.5	X		÷	**
SAN XAVIER	1. XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	63.0		:	- X .	
126	Tony Felix (Carmelita Mattias)	63.0			X	
BABOQUIVARI	l. Joann Garcia (Edward N.Kisto)	120.5	X			
241	2. Kenneth Chico, Sr. (Frances Miguel)	120.5	- X			
GU ACHI	 Angelo J. Joaquin, Sr (Jonas R. Robles) 	79.0	. Х			
.158 .	2. Fernando Joaquin (Fred Adams, Jr.)	79.0	X			
PISINEMO	JEROME ANTONE 1. CXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	58.0	. Х	·		:
116	2. Johnson Jose (Edward D. Manuel)	58.0	Х			:
SAN LUCY	1. John Reno	42.5	Х			
8 5	2. Max P. Jose (Dewey I. Ortega)	42.5	X			X
GU VO	1. Cross Antone	58.5	Х			
117	(Fern E. Salcido) 2. Virgil Lewis (Foy Montana)	58.5	X			X
HICKIWAN	1. Henry A. Ramon					
128	(Pablo Baptisto) 2. Lloyd Francisco	64.0	X			
	(Eleanor Santos)	64.0	Х			
CHUKUT KUK	1. Rosemary Lopez (Anita C. Clark)	84.5	Х			
169	2. Harriet Toro (Marvin J.Thomas)	84.5	. X			
TOTALS	•	1640.0	1514.0	-0	126.0	02
						